

TO VALIDATE, GO TO Certificate Number : GI-COO-56866-67ae883c91c82 VERIFY.FTGS.US Date : February 14, 2025

Transport Ty Vessel Destination O China Export Date 2025-01-31 Import Permi N/A Owner or Age N/A Remarks Total: 1,248 Total: 523.9	Country  I  it Number  ent  bales		Port of Loadi LOS ANGE Destination F TianjinXinga Exporting Ca N/A Bill of Lading 4015100058 Forwarding A N/A	LES Port ang rrier g / AWB 840	
China Export Date 2025-01-31 Import Permi N/A Owner or Age N/A Remarks Total: 1,248	1 it Number ent Bbales		TianjinXinga Exporting Ca N/A Bill of Lading 4015100058	ang rrier g / AWB 840	
2025-01-31 Import Permi N/A Owner or Age N/A Remarks Total: 1,248	it Number ent		N/A Bill of Lading 4015100058 Forwarding A	g / AWB 840	
N/A Owner or Age N/A Remarks Total: 1,248	ent Ibales		4015100058 Forwarding A	840	
N/A Remarks Total: 1,248	bales			Agent	
Total: 1,248					
, Kind of Package	es.)		Weight	Country of Origin	
		21.8	9mt	United States	
		10000			
Alfalfa Hay Marks: TGBU7893132 52bales					
Alfalfa Hay Marks: EMCU8332652 52bales					
				United States	
Alfalfa Hay Marks: EMCU8210715 52bales					
		00.4			
		22.163mt		United States	
		21.6	72mt	United States	
		21.075111		United States	
		23.0	52mt	United States	
	<ul> <li>The above-mentioned g applicable in the country!</li> <li>The information in this c accurate, true and complete the Applicant undertake Certificate (or to whom the of any inaccuracy, omissisted)</li> <li>The Applicant will maint truth, accuracy and comptent in consideration for the harmless GIC from any linit</li> </ul>	bods originate in the fies) to those good- ertificate and in an ete. s to advise GIC and the Certificate is pro- on or change in su ain, and present up leteness of this ce GIC's issuance of th ability in connection 'or claims made ac	e country(les) specifies, s, y documents provide any other person(s) vided to with the knc ch information, or in on request, such doc trificate and accomp is Certificate, the Ap n with the issuance c ainst GIC in connect	fied above and comply with the rules of orig ed to the Greater Irvine Chamber ("GIC") is ) to whom the applicant provides this owledge of the Applicant) promptly in writir the origin of goods. cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hc of this certificate and to indemnify GIC in tion herewith.	
	, Kind of Packag	The above-mentioned g applicable in the country( The information in this c accurate, true and comple The Applicant undertake Certificate (or to whom th of any inaccuracy, omissis The Applicant will maint truth, accuracy and comp -In consideration for the 0 harmless GIC from any lia respect of any costs and,	21.83         21.53         21.44         20.01         22.14         20.01         22.11         21.61         21.61         21.61         22.11         21.61         21.61         23.02         The Applicant (or the Applicant on behalf of - The above-mentioned goods originate in th applicable in the country(ies) to those good - The information in this certificate and in an accurate, true and complete.         - The Applicant undertakes to advise GIC and Certificate (or to whom the Certificate is pro of any inaccuracy, omission or change in su - The Applicant will maintain, and present to the consideration for the GIC is issuance of the harmless GIC from any liability in connection respect of any costs and/or claims made ag	XIND OF Packages.)       21.89mt         21.537mt       21.537mt         21.491mt       20.076mt         22.163mt       21.673mt         23.052mt       The Applicant (or the Applicant on behalf of the Consignor), by u         The Applicant (or the Applicant on behalf of the Consignor), by u       The above-mentioned goods originate in the country(ies) specifiapplicable in the country(ies) to those goods.	



TO VALIDATE, GO TO Certificate Number : GI-COO-56866-67ae883c91c82 VERIFY.FTGS.US Date : February 14, 2025

	VLNII 1.1 103.03 Date: February 14, 2025					
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination C China	Country	X/////XXXX////	Destination Port TianjinXingang Exporting Carrier N/A		
Consignee	Export Date 2025-01-31					
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permi N/A	Import Permit Number N/A		Bill of Lading / AWB 401510005840		
Beijing China	Owner or Age N/A	ent	Forwarding / N/A	Forwarding Agent N/A		
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1,248 Total: 523.9					
Description			Weight	Country of Origin		
(May include notes on Quantity, Item Number, Marks and Numbe Alfalfa Hay	rs, Kind of Package	es.)	22.126mt	United States		
Marks: EITU9438033 52bales						
Alfalfa Hay			21.709mt	United States		
Marks: EITU9150643 52bales						
Alfalfa Hay		21.555mt	United States			
Marks: TRHU8963500 52bales						
Alfalfa Hay		21.528mt	United States			
Marks: TCNU3873014 52bales			tark tark tark			
Alfalfa Hay			21.945mt	United States		
Marks: EMCU8523746 52bales						
Alfalfa Hay			21.763mt	United States		
Marks: TGBU9771895 52bales						
Alfalfa Hay			21.482mt	United States		
Marks: TRHU7146887 52bales						
Name of Authorized Trade Association		<ul> <li>The above-mentioned goods orig applicable in the country(les) to th -The information in this certificate accurate, true and complete.</li> <li>The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and p truth, accuracy and completeness -In consideration for the GIC's issue</li> </ul>	inate in the country(ies) spec ose goods. and in any documents provid se GIC and any other person(s ate is provided to with the kn nge in such information, or in resent upon request, such do of this certificate, and accom ance of this Certificate, the A connection with the issuance made against GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-56866-67ae883c91c82 **VERIFY.FTGS.US** Date: February 14, 2025

		00.00 Dute	February 14, 2025			
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel			Port of Loading LOS ANGELES		
Irvine CA USA	Destination C China	Sountry		Destination Port TianjinXingang		
Consignee	Export Date 2025-01-31		Exporting Ca N/A	Exporting Carrier N/A Bill of Lading / AWB 401510005840		
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permi N/A	t Number				
Beijing China	Owner or Age N/A	ent	Forwarding A N/A	Forwarding Agent N/A		
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1,248 Total: 523.90					
Description			Weight	Country of Origin		
(May include notes on Quantity, Item Number, Marks and Numbe Alfalfa Hay	rs, Kind of Package	S.)	22.063mt	United States		
Marks: GCXU5335078 52bales						
Alfalfa Hay			21.718mt	United States		
Marks: EMCU9920774 52bales						
Alfalfa Hay		21.636mt	United States			
Marks: EMCU8852150 52bales						
Alfalfa Hay		21.618mt	United States			
Marks: EMCU8505193 52bales						
Alfalfa Hay		ALLER RESERVENT	22.181mt	United States		
Marks: EMCU8721320 52bales						
Alfalfa Hay Marks: TRHU5651977 52bales			22.154mt	United States		
		(XIXIXIXIXAAA)	22.199mt	United States		
Alfalfa Hay Marks: EGHU8446687 52bales		22.199111	United States			
Name of Authorized Trade Association		applicable in the country(ies) to thos -The information in this certificate a accurate, true and complete. -The Applicant undertakes to advise Certificate (or to whom the Certifica of any inaccuracy, omission or chan -The Applicant will maintain, and pre truth, accuracy and completeness o -In consideration for the GIC's issua	ate in the country(ies) special se goods. And in any documents provide GIC and any other person(s) te is provided to with the kno ge in such information, or in sent upon request, such doc this certificate and accomp nee of this Certificate, the Ap nnection with the issuance con made against GIC in connect	fied above and comply with the rules of origin ad to the Greater Irvine Chamber ("GIC") is ) to whom the applicant provides this owledge of the Applicant) promptly in writing the origin of goods. crumentation as is necessary to verify the anying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ion herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-56866-67ae883c91c82 VERIFY.FTGS.US Date : February 14, 2025

Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel		Port of Loading LOS ANGELES			
43 Corporate Park Irvine CA USA	Destination ( China	Country		Destination Port TianjinXingang		
Consignee	Export Date 2025-01-31		Exporting Carrier N/A Bill of Lading / AWB 401510005840			
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Import Permi N/A	it Number				
	Owner or Age N/A	ent	Forwarding Agent N/A			
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1,248 Total: 523.9					
Description (May include notes on Quantity, Item Number, Marks and Number	s, Kind of Package	es.)	Weight	Country of Origin		
Alfalfa Hay			22.607mt	United States		
Marks: TXGU5593360 52bales			00.000			
Alfalfa Hay Marks: GCXU6041313 52bales			22.326mt	United States		
Alfalfa Hay			21.41mt	United States		
Marks: TRHU6912890 52bales						
=====end of products======						
Name of Authorized Trade Association		<ul> <li>The above-mentioned goods origin applicable in the country(ies) to the -The information in this certificate a accurate, true and complete.</li> <li>The Applicant undertakes to advisi Certificate (or to whom the Certification of any inaccuracy, omission or chara -The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the GIC's issues</li> </ul>	nate in the country(ies) specifi se goods. and in any documents provide: e GIC and any other person(s) ate is provided to with the kno nge in such information, or in t esent upon request, such doci f this certificate and accomp nece of this Certificate, the App onnection with the issuance o made against GIC in connecti	umentation as is necessary to verify the anying documents. plicant agrees to release, discharge and hold f this certificate and to indemnify GIC in on herewith.		

Booking Document - HayCloud.com

#### Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCI	AL INVOI	CE		Invoice No. Date:	YY-202501005-1 1/16/25				
Shipper/Exporter: Healthy Green Life Corp				<b>Consignee:</b> Bei Jing You Yuan Mu Ye Limited Company					
1152 S Roughcut D Casa Grande, AZ 85				200 meters west of Village Committee, Wuxiongsi Village, Dasungezhuang Town, Shunyi District, Beijing					
Vessel:	EVER MACH			Contract No.:	YY-HGLC2024-8				
Voyage No.:	1384-008W			Booking No.:	401510005840				
Shipping Line:	Evergreen			Country of Origin:	: USA				
Port of Loading:	LOS ANGELES, CA			Discharge:	TianjinXingang, China				
ETD:	1/31/25			ETA:	3/8/25				
Price Terms:	CIF								
Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)			
EGHU8446687	A1830555	Alfalfa Supremi	52	22.199	\$403.00	\$8,946.20			
EGSU9284250	02856005	Alfalfa Supremi	52	21.890	\$403.00	\$8,821.67			
	1		1		1				

	Total Value:					\$211,132.51
TXGU5593360	A1830552	Alfalfa Supremi	52	22.607	\$403.00	\$9,110.62
TRHU8963500	02857108	Alfalfa Supremi	52	21.555	\$403.00	\$8,686.66
TRHU7146887	02856148	Alfalfa Supremi	52	21.482	\$403.00	\$8,657.25
TRHU6912890	A1830605	Alfalfa Supremi	52	21.410	\$403.00	\$8,628.23
TRHU5651977	A1830557	Alfalfa Supremi	52	22.154	\$403.00	\$8,928.06
TGBU9779582	A1830591	Alfalfa Supremi	52	22.163	\$403.00	\$8,931.69
TGBU9771895	02856149	Alfalfa Supremi	52	21.763	\$403.00	\$8,770.49
TGBU7893132	A1830597	Alfalfa Supremi	52	21.537	\$403.00	\$8,679.41
TCNU3873014	02856150	Alfalfa Supremi	52	21.528	\$403.00	\$8,675.78
GCXU6041313	02856163	Alfalfa Supremi	52	22.326	\$403.00	\$8,997.38
GCXU5335078	02856177	Alfalfa Supremi	52	22.063	\$403.00	\$8,891.39
EMCU9920774	A1830528	Alfalfa Supremi	52	21.718	\$403.00	\$8,752.35
EMCU8852150	02856173	Alfalfa Supremi	52	21.636	\$403.00	\$8,719.31
EMCU8774422	A1830526	Alfalfa Supremi	52	23.052	\$403.00	\$9,289.96
EMCU8721320	A1830559	Alfalfa Supremi	52	22.181	\$403.00	\$8,938.94
EMCU8523746	02856142	Alfalfa Supremi	52	21.945	\$403.00	\$8,843.84
EMCU8505193	02856172	Alfalfa Supremi	52	21.618	\$403.00	\$8,712.05
EMCU8332652	A1830596	Alfalfa Supremi	52	21.491	\$403.00	\$8,660.87
EMCU8210715	A1830594	Alfalfa Supremi	52	20.076	\$403.00	\$8,090.63
EMCU1675557	A1830530	Alfalfa Supremi	52	21.673	\$403.00	\$8,734.22
EITU9438033	02857101	Alfalfa Supremi	52	22.126	\$403.00	\$8,916.78
EITU9150643	02857102	Alfalfa Supremi	52	21.709	\$403.00	\$8,748.73
EGSU9284250	02856005	Alfalfa Supremi	52	21.890	\$403.00	\$8,821.67

NA porate of						
05/31/1979 CO	(	Commodity	Crude Protein	Moisture	RFV	ASH
1111111 000 11100 000 1111111111111111		Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



2025

